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. 1. 
:

1 P12 P13 0 0 0
P12 1 P23 0 0 0
P13 P23 1 P34 P35 P36
0 0 P34 1 P45 0
0 0 P35 P45 1 0
0 0 P36 0 0 1
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1 P12 P13

P12 1 P23 = A;
P13 P23 1

0 0 0
0 0 0 = B;

P34 P35 P36

1 P45 0
P45 1 0 = D;
0 0 1

.
 [4],  (  D):

1 P45 0 P34  P34+ P45· P35
P45 1 0 P35 =  P35+ P34· P45
0 0 1 P36  P36

 D 
:

1 P34+ P35· P45 P35 +P34· P45 P36

P34+ P35· P45 1 P45+ P34· P35 0
P35 +P34· P45 P45+ P34· P35 1 0

P36 0 0 1

2  3  ( . 1), ,
. 

 1-2-3:
1 P12+ P13· P23 P13+ P12· P23

P12+ P13· P23 1 P23+ P12· P13

P13+ P12· P23 P23+ P12· P13 1
 3-4-5 ( .1), 

. :
1 P12+ P13· P23 P13+ P12· P23 0 0 0

P12+ P13· P23 1 P23+ P12· P13 0 0 0
P13+ P12· P23 P23+ P12· P13 1 P34+ P35· P45 P35 +P34· P45 P36

0 0 P34+ P35· P45 1 P45+ P34· P35 0
0 0 P35 +P34· P45 P45+ P34· P35 1 0
0 0 P36 0 0 1

, , ,
:

1 P12+ P13· P23 P13+ P12· P23 [P13+ P12· P23]
·[P34 +P35· P45]

[P13+ P12·
P23] ·[P35
+P34· P45]

[P13+ P12· P23]
· P36

P12+ P13· P23 1 P23+ P12· P13 [P23+ P12· P13]
·[P34 +P35· P45]

[P23+ P12·
P13] ·[P35
+P34· P45]

[P23+ P12· P13]
· P36

P13+ P12· P23 P23+ P12· P13 1 P34+ P35· P45 P35 +P34· P45 P36
[P13+ P12· P23]
·[P34 +P35· P45]

[P23+ P12· P13]
·[P34 +P35· P45]

P34+ P35· P45 1 P45+ P34· P35 [P34+ P35·
P45]· P36

[P13+ P12· P23]
·[P35 +P34· P45]

[P23+ P12· P13]
·[P35 +P34· P45]

P35 +P34· P45 P45+ P34· P35 1 [P35+ P34·
P45]· P36

[P13+ P12· P23] ·
P36

[P23+ P12· P13] ·
P36

P36 [P34+ P35· P45]·
P36

[P35+ P34·
P45]· P36
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1 0,86 0,76 0,65 0,42 0,38
0,86 1 0,74 0,57 0,41 0,37
0,76 0,74 1 0,77 0,48 0,50
0,65 0,57 0,77 1 0,51 0,39
0,42 0,41 0,48 0,51 1 0,24
0,38 0,37 0,5 0,39 0,24 1

:
1 = 307 / 5 = 61,4 %; 2 = 295 / 5 = 59,0 %; 3 = 325 / 5 = 65,0 %
4 = 289 / 5 = 57,8 %; 5 = 206 / 5 = 41,2 %; 6 = 188 / 5 = 37,6 %

, ,  –
,  65 %  37,6 %. 
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